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Directivies for the foRowing two (92) ems ;

Rﬂdﬁ:falhmﬂg&nqumrﬁﬁihuhnn
for two series of cbservations and snewer
the pwo items that folkrw : '

v Freguency
Class intervad Serics-I Sevier-IT
1020 20 4
20-30 15 8
30-40 10 4
40-50 Ix
5060 , g
Total - 100 100

Whﬂtmﬂumm:}ffmquumydlm
baticn of Serics-1 7

(=) 336
(I:-}. 356
{) 3746
{aﬁ 396 -

L%ttslhﬁmndunfihﬂﬁnqm?
distribution of Serles-II 7

) 26
by 36
() 46

@ 56 R

Directigns for the follmving four () bamy ;
Riad the following information and answer
mij'iiuritmlliltﬁ:lﬂuw'
Luttimdamib-.mmnfmmbuufmmmut‘

jex X and ¥ sald by 5 shewnpoms
{4, B, €, D and E) in 3 cenaip year be
denoted try 51 and the distribution of momber
of scocters of only company X sold by the
ﬁvuahummmmnmnywbednmm
by 52

Mm&bﬂ'
M.JBEDEE oty sdd

sxm%) [19|24[15[3312] . s400
52 dn %) |24/ 15)20[30] 8] 3000

3, Number of scootars of company ¥ sold
by thowroom E is what per cemt of the
mumber of scooters of both companies
sold by showmoan C 7

{a) 52
{b) 34
c) 3%
@ 56

4, Number of scookem of both the coapa-
pies sold by showrom B is what per
cent ‘more than the mamber af Booders
of copany X s08d by shewroen 4 7
(2) 783
) 834
{c) 864
(@) 28}
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(£) a611 ' ® 5l
L {b) 53
@) 4314 | ) s
(c) 4261 . () 56
) 4161 8 2014-17 8 2k ¥ Sw whet 6
| FRRY We § wm i whne
6 T 4 TR W Mg SR dmft % e wrn k7
wedt B v o avsil B al gy ' @) 6%
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{a) 416 t©) Ti%
— ) 76%
(c) 432 9. 7§ 2017 7 vaw ot & Tarer o
D 436 :ﬁ: e W 6 e ven W
‘BT WTe (04) et s T P (e} 163
Tnfirfom gom =t <R o wer ot @ . ) 152
wre nedi 3 e dife (c) 147
arey st ¥ 5 frod o w6l & v # W 134
Tk arfte W wRR Bl W ¥ |
_ : 10. 2 2017 ¥ TR Fdewat 3 e A
w 204 | 2085 | 2000 | 2097 | . i e T & e ww
ﬂrm 40957 [46070 | 52780 | 48746 L
(a) 10
fﬁfm 12330 | 13984 | 15746 | 20457 ® 12 .
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‘5, What s the aversge oumber

of
scootas of company ¥ sold by the
showrooms 4, C and E 7

{a) 4-5113-
(o) 4314
) 4261
&} 4164

5 Whet is the difference betwesn the
mmbe of scoctern of both conpanies
sold by showroom A and total nombear
of scootews of compamy X sold by
showrooms 5 and E together ¥

(a) 416
{b) 426
) 412
() 436

Directions for che following fasr (0f) lems |
Read the following information snd miswet
tive Fowrs it that follow ; :
deadlier over the verin,

204

0I5

2014

i

| M09S

45070

3415

48T

-112239

12894

L5746

2457

4037

3125

1385

3559

7. What was- the a\'mg:nnmhmﬂ;f'

pédestrians killed per day i the year
277

{a} 3l
) 33
(e) 54
(dy 56

B. What is the spproximale percentage

change in the pedesirians’ fatalities
thrring the period 2014-17 ?

(a) 66%

®) 8%

© 7%
d) 7%

, What is the wverage. iumber of bikcrs

killed daily m roed accidents in the -
year 2{7 7

) 182

T b 152

{c} 147
{d 134

What is the average number of cyclists
killed daily in road sccidents in 2097 7

(@ 10
® 12
{cy 19

o 2
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13[

aA #ifg & AR 4 T aeiE o
waard ¥ W E B aqfa + 5B =32
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(8) 82=20y-1a0

(b) &i+Hy-1m0

(c) Byi+20y41=0

{d) B3-2p+1=0

3 HAET W e SRS (HCF)
12 % ) Frfdf & & 7 o oo bt
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(8) 80
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) 100007
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() 20,000 774
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f. Let o end b be two positive real Which of the shove sistements are

nmnhusnmhlhﬁtawlr;-l-b'r 32 and coerect ? |
ayb+bfa =31. What is the, value of - @ 1,203
5{u+b]? .
7 - (b} 1 d 2 ouly
- {m & S
by 7 ' . fe) 2end 3 only
fe) # (@ 1sod3oaly

15, The rate of mterest on two differcnt

3 e schemen it the same &nd it is 20%. But
11.11‘.'11.— 2 and y =x°, then y satisfies e of the s o
which ome of the following equations T compounded half yearly snd in the
- ' ' ofher the interest is
(a) 8*-20y—1=0 ety t:::lpunndad
() 87 + 2y -1=0 -in the schemen. If the difference of the
' : rﬂmmuﬁnrﬂyummfﬂlthmwhﬂ
{c) Hr+2p+1=0 s the e eah
() 8P 20y +1=0 " icheme?
13, HCF of two mmbers iz 12. Which one” () 16,000
of the ollowig can ocwer he their
LCM ? (b) T 16,000
® 80 © (e) T20.000 "
b 80 L ' » !. =
T | 186, For whal valae of & cxn the expredindi
. ' ' 1 + ko = Tx + 6 be resotved inko thees
14, Consider the following statements : i factont 7
1. Unit digit in 17%™ iz 7.
. _ a
2. Difference of the squares of aoy i
two odd numbers is always divisi- 1
ble by 8.
3. Adding 1 to the prodnct of two © 2
consecutive odd numbers makes it _
2 parfadt sdquatt. _ : iy 3
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20. .4 ¥ B = 25,000 ¥4 I, i ol ot
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T R AR R TR Y4k
AR A W R GRCN 11,200 ot =N %
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{2) 2000057
(b) 25000
{c) 15000 %
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() 6% W
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(@) #ewh

i) % @

22, A5 B & hies AT 4.3 % e Y

£ 1 v 600 w3 wwrn & | oft
w3 2w A S B

Arg ey & ¢

(a) 1800 W
(b} 2000 T
(&) 2400 TR
(d) 3600 T



17. X, ¥ s Z giart ai same point and sdme

tiee in ihe same direct¥m 1 TOD
aronnd a circuter stadium. X completes

a romd i 252 secomds, ¥ im 308

seconds and Z in lﬂﬁsnn:fnds.ﬁﬂur
wha time will they meet again at the
sartng poit?

{8) 26 minates 1§ seconds
{6) 42 minutes 36 seconds

{c) 45 minutes

() 46 miputes 12 seconds
3

vl

w2

lﬂ.?u'hatislthCMnfg 7

d
i
) =
b -
{c} 5

y —

19, If lbe oquations 2 +5x+6=0 and

ATt kx+1=0 hve & common root,
then what is the value of X7

5 .l L
@ -33

14

m oy

3
2
@ 5or
.

_1o

3

' 10
[ —S o

20, A lent 225000 10 B and st the same

Hme lent come amowrt o O st same
7% sirnple iotorest. After 4 years
A received TII200 a3 interest from
B wod . How ouch did 4 lend 1o ©7
{x) T20000
{b) TZS000

(c) ¥15000

(dy T10000

1.

A oader sells two computers at the
zame price, making a profit of 30% on
s anad a boes of 3 on the otber.
What is fhe net Joss or prolit

. percentage on the trarmaction ¥

yr

{a) 5% lome
{b) 6% gein
[€) 4 Josx

(4} ¥4 gain

Themﬂl‘rjrmmmuul'dmdﬂmm
the mtio 4:3. Esch zaves TS00. I

their expenditores are o the eatio 3 : 2,
them what it the momthly income of 4 7
@ TIEW
&) T2000
(cy T2400
) 13600
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:mmmﬁEM?ﬂﬁﬁﬁ#ﬁN
48 for 7 wmfm &+ wmi War 160
wfirat % Bm e Bt o wig
15‘11111?

{a) uﬁiﬂ _

(b) &4 fmt

(o) 60 fes

(dy 54 s

T

. 10

26, 7% WA AW [ AFETER O

foomt amaT v § o frawr =W
oy dmk & w8, W oet & g

W R e ¥ | v W witrman

W FER AT TR F

" % i g & ey o & lmﬁﬁ

G
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1T,

i
-]
L

‘g{qﬂlﬂmmt 7

-
2

A TR e, e s 9 2 ke
o w AR ¥ Befr
mw_:,y,:ﬂﬁml'ﬂﬁﬂi
R w e &; o firks Y Yenst
I,y,zﬂefm:L,HEﬂIN‘W{ﬁEﬁ :
2 T PO=3cm, OR=9cm ¥R

. MA=10-5cm %, ?i’ruu':ﬁamim
R

{x} Tom
) 35 em
{c] 4o

(@ 45 cm

:i{éﬁ:.ﬁwaﬂmqﬁi:ﬁfﬂmw

mﬁ-ﬁmftlinﬁ_tmw

f Wt r

a) 23
() 32
) 33
) 34



73. The train fare and bus fare between

two siations- ks in (e ratio 3 : 4, If the
train fare incresses by 20% aod bus
farw ineresses by J0%., then what is the
ratio betwoen revieed train frs and
revised s Fare 7

9 .

LT

7

.(h}'ll

32

© 3

19

@ o

24, When ¥ is divided by 17, the quoticn

18 cqual 1o 182, The: differencs bedween
the quotient snd he remainder is 175,
 What is the valoe of N7
(&) X975
(b %4 .
(c) 30t
. (d) 3268
25. A stock of food grains iz epough for

240 v for 42 days. How long will
the same stock Ingd fa 160 men 7

(a) T2 davs
(£} 64 dayn
(c) 60 days
{d) 54 days

|

26.

28

‘radian messpe of the s of

A hollow might circuler cylindrical
vessel of vohmme ¥ whooe diameier is
oqual 1o itg height, is completely filled
with water. A heavy sphere of maximum -
possibke volume is -then completely
immersed in ihe vesgal, What volome of
waler Temaing in the vesgel T

@
)
©

(4}

== ml% w|= wl=

Three paralle]l lines x, ¥ wd z are
cud by two transversalt m and ». Trms-
versal a1 cuals the lnes x, v, 24t P Q. B
respectively; and Transvasal & cuis
the Lines x, y, = & L, M, N mespec-
fively. If PQ=3¢m, QE=5%cm and
MN =105 ¢cm, then what is the l=ngth
of LM? - . '

(&) 3cm

b 35 cm

(c] 4cm

(d) 45 cm
Thumnf_:mnfncim]::nf
radius 4 cm i@ 256 enyd. What is the
the
pector ¥

ia) 23

) 32

{c) 33
(dy 34
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29, Ty e & w3 Foafafa & &
Log ool '

() Y i 3 e s B

(b v v g P ¥ e &

{c) T v A P o et e
(d) WA HhE o e Tt W

mnﬁiﬁﬁqmﬁ?ﬁc#ﬁwmc
w1 W 2o @ fieg v w fimar %)
Tt ¥ & Jray v 4 7

(a) AB < BY
{ty AB>EBY
¢} AX=Cx
(dy TR F % W et
31, 1ogq{0088) + log,fsing) + Joggfiand) +

bogspleott) + log, (secll) + log; ofcoeecd)
WAM TR 7

fa) =]
) 0
(&) 05
() 1
32, ¥ cos®c + coux= 1%, =t

sin'%: + 3sin% + Zyintx + zinty
WA

(a) 1
i 2
ey 4
{d B
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‘12

13. 5% 0 < G P, sing= 2 :ﬂ'lu-mﬂ

@
1+h+?:‘+2?:3+ﬂlx‘+243;’
WA ?

(s a1,

(b} 100
(=) 1220

(i 13658

b 8 2 ATE AR F i wed

(et} = formy anell Yo e Fotmm
Tt g P & 35wt & T B

- T W U W g 1A g

Pﬂuﬁ‘&:mﬂqﬁﬂm :ah
by |

{n) 24 =%y
() 24 = o

(e 2B =xy

(d) 25 = xZy?

un k9  cos7¥

35 CoaTE | gz AR 7

(@ o
(b} 1
{) 2

@ 4



28,

3.

Which one of the following is conrect
in respect of a nght -agled wiangle ?

(a) Mz orthocentre lies inside the

triangle

(b) liz orthocentre lies cubride the

triangle
{c} Its onthoceniTe Lics on the trianple
&d) It hes oo orthocent:

Let the biserwr of the mgle BAC of a
triangle ABC meel BC in X, Which ons

" of the falkewing is correct ?
{x) AR < EX
:{b} AB > BX
- fg) AX=0X
~ {d) None of the sbove

3.

kT3

What is ﬂ.'-ﬂ value of log feosd)+
log, J{#ind) + bog, {tand) + log ylcat) +
Jog,f#cc8) + Ing, (ooscc ) P .

{ay -1

) 0

{c) O3
1
H cosx + cosx=1, then what ix the

vahue ol
sin!?x + 3xin'r + Jsinfx + gin®x 7

(a} 1
b) 2
©) 4

Ad) B -

13

. 3. FO0<O< N, sind = § and x = cotf,

then what is the vahsé of
1+ 3x + 9%+ 27+ Blxt + 2431 7

(a) 541
(b} 1000
() 1220

(d) 1365

3, The angles of ckvation of the tops of
two pillers of hieights * amd 2% fiom »
point £ on the bine joizmg
the two pillars arc gomplementey, If
the distances of the foot of the pillars
from the point P are x and 3 respec-
hm;mmuhqhun:nfhﬁﬂluwinz
is carmect ?

(0} 24t =xd
(b) 24 = x
() Wo=xy
(d} 24% =x%7

38, Whﬂumcwhnnfmwﬂ+mw ?
cos71*  sinl?®

@ 0 |
() 1
A=) 2

() 4

C - SpDHY-T-MTH
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36. T g = 9T 22 om & 1| P

iy

Werne ik & T fvd % v s opn
% wwow TE v Rl st &) oW
T & P W witew o d 7

{a) 33 ¢gm
() 44 an
{c} 66em

i) 58 cn

fird! T ABCD ® T ADSR BC

TR £ dt 209% et ac 3k BB

i 0w fimn ) i few aom

& 5w 3om® ¥ ¥R P apc

FTed Bems ¥, ﬂﬁ'ﬁdﬂﬂﬁl'

e P & 7
() B o
(6) 5 cn
© 36 P
@ 18 e

:u.qmim-m: At g ook

P tScn TR R IR S Y |
R ravsmAweREfF p=x
AR B =y ¥ | Freafafes 3 % Sk
wRfdm e Riommity 2

@ x=65a M y=65am
B x=12em ¥ y=5em
{&) x_ﬂ.inm\ﬂ'{y-lz

() x=0cmATy=13cm

SDHY-T-MTH - C

14

30, % wen gt ABC o POR & Thome

w75 om AR 50 cm ¥ | 9f Py
POR 6 % yo i Awrg 20 am B,
ﬁuﬂamiﬂ%mgmwﬂm

_mnt?

{a} 25 cm
() 30 em
{c) dﬂcm.

(@) 45 om

o PRy, PORS i A b

Pl frwl PR 3l 05 B 0 W

e = £ aft Pgw grs U

d41.

waarg P & Bk s e £ ward
10 cm ¥, At fiprl PRt Fam 7 § 7

{m) 3 cm
() 10+ em
(s} 1543 cm
(d) 2043 em
T Y ¥ AF T v ¥ G
xy a2 ¥ o afs v = amme v R,
o Fefifm A & S r o mir & 7

{a) ¥=xz
) Viox
) =z

@) V= (g



36, The perimeter of & iriangle is 22 cm

Through each vertex of the triangle, &
sowight line patalle]l to the opposite
" side is drawn What iz the perimeter of
trirngte formed by these lines ?
(a) 33 cm

(b) 44 cm

_(-:} 66 cm

(d) 8 om

. The mdes AP, BC of 2 trapeziom -

AC and BD meet xt (). If the mea of
irinngle AOE is 3 cin? 20d the apea of
tiangle BDC i 3 ¢, then what is the
aiea af triangle 4O ?

(a) & cm®

(b) 5 oo’

) 36 em’

(d) 18 e

3. A line seproent AR i the diameter of &

circle with centre al & having radius
" &S cm. Paint P is in the plme of the

citcle such that AP=x and AP =y,

In which ene of the [ollowing cascs
ithe point P does mef bie o the circle 7

(&} #=65 emand y =65 um
B x=12cmandy =35 cm
() x=5cin and ¥ = 12 cm

d) x=0cmendy=13cm

H0.

41,

39. The perimetear of two. gimilar triangles
ABC and PQR are 75 cm and 50 0m
respectiveby. Hﬂlﬂin}gﬂiuf&mmﬂa
of e triangle FOR is 20cm, then
what is the length of corrceponding

* side of the iriangle ARC?

{a) 25 cm
b) 30 em
ic) -iﬂmn
(d} 45 am
Let PORS be » panallelogram whose
diagonals PR and OF inlersect &t €

i trangle QRS is ap equilaleal

triangle having a aide of length 10 cm,
then wixat is the Jength of the diagonal
PR1

@ *3om
(b} 163 ¢m

-{e) 15'41"5-:111

) 26+3 e

The amas of three adjacent fsces of &
cuboid are x, y and z. TF Fia the volume
of the cuboid, then which one- of the
following is corrset ?

() ¥ =

(b)) ¥% =y

€ P =mz

(@} ¥ = (pzp
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41,

43,

R fiedt wg figm f wfie
(wifarr) 4 wamk 1 2, < v oA
wRT -

R
B

B
2

(L)

¥

il
27

(c}
()

AR o U g 20 cm P At o

PHEE I Em AL A w

I50° 1 % W daf o & ) ok

w TR R TF W % e Ay R

WA, I ¥R W W 3 6 P

w7 BWY ? '
19

(a} = oo

(b) 7 cm
() 8§ cm

(d) T & & = it

AR difim P, o S R, 128 coo? S
e fingw ) Yt e fig § (Al

P POR & il & e fingdt =
P v P ABC WA Wrg,
firgy ABCT S W g 7

() 4 o |

(b) & oo’

(c) I6cm®

(d) 32 co?

SDHY-T-MTH - C

16

48,

46

47.
- s TEm &) Bt 2% s #

e wifwe § wng p e g e ¥
Yar p o g & dte oo, st
gR iy pdrgdfm 2R 22
T A T C AR A et

W Rl fig 4w whrd wlt 8,
W p R F IR AR
W AL AD=4:53 %, @ finEm ke
i B ADES et T T W
L3 |
{a) 2:3
(b) 4:9
() 16:81
@ 1:2
AR A A g ¥ O W e
¥ s vy Prgw R R ¥ T ot
W | P & drem i %
PR AT R 7 :
(a) 3:4
by 2:3
_[ﬂ} 443 :9
{ 243:9 |
et i s 7 Wi st

. # | o fedt & Farat v dree

12 cm 8, Tt Hi oY W TR
o & ¢
v) 9cm®
o) 12 oo’
) 16 cm?
) 25 m?



42. 1 1 ia the lengih of the median of an

squilatecal irangls, then what is its
area 7
Hr

k)

(n)

B =5

I '
2 .

) L3

(@ 2B

43. A piece of Wire is in the form of a

pector of a circle of radius 20 cm,

mubtending an angle L50F at tha contre.
If it is bent in e form of a circle, then
what will be its mdius 7

{a) — cm

- (B Tom

(c) oo

{d) Noot of the above

44, Suppose F, { ad R sre the mid-pomms

of gides of a triangle of area 128 oo’
' & trisngle AHC in draven bey joining
. the mid-points of mdes of triangle
PR, then what is the ares of tnamgle
ABC? '

(a) 4 cm®

(b) 8 cm®

(e} 16 o

d) =X cm?

17

45,

Lel two lines p smd g be parallel
Copsider two poimz B and- C on the
fine p and two points & and E on the
lige q. The line through B wnd E
imtersects the line toough C and D at A
in between the two lines p wod g. If
AC AD=4:5, then what is the ratio

" of area of wiangle ABC to (bt aof

46,

&7,

triangle ADE 7

(@) 2:2

L) 4:9

(c) 16:81

iy 1:2

An equilateral trishgle pod » square are
constructed wsing metallic wires of
squal length. What is the ratia of aren
of triangle to that of squara?

A 3:4

®) 2:3

(€} 443:9

W) 2-3:9

Al]ﬂmfnm'siﬂ:;ufapu‘aﬂelup'ﬂn-
aro of equal langth. The disgonale are

“in the ratic 1:2. If the sum of the

Letigths of the diagonals-is 12 cm, e

whdism:arﬂqfﬂtupuaﬂbhgrlm?

(2) 9 om®

) 2 cm?

c) 16 em?
@ 25 em?

C - SDHY-T-MTH



4% ARC R Pryw & fiwwr w5 wrE

49.

R iR 4B =S em IR BC= 1O em A,
ot ol 29wl o we o v o da
ki :

{2} 4em

(B} 45 am

© ;‘,‘; em
{dl 8 cm

mmﬁi‘rimﬂﬁm
2:3% gqam # £ | =kt Pemad w
ST v & 7

W A1
) 3:42
{c}z:-ﬁ.
(@ 32

. T m.iﬁﬁiﬂm‘a’m{m:

20% s 100 wr 2 ol & | e &
S ¥ et wfiwm g o R 7

{a) Ir%
(b) 30% -
() 25%

(d 13%

SORY-T-MTH - C

18

51, 7R o wier finge & w6 wad
10 cm ¥, Wt T T ¥ T fg
¥ Al S fmrT 4

(&) 100 cm?
(t) 50 em?
(&) 25 cm?
" {d) 10 e?

ﬂ.mﬂmmmwtﬁﬁﬁ#

¥itk 201 aum Froar AR % T W R
£ 1w % dew v ol % doveer @

Aoy wr ¥ 7
wm 11:7?
) Tl
fc) 20:1%
{d) 19: 2

53, TRE o T WO W B 20 e R o
W W T BYER 1000 cmt # |
W W AR fawr ¥ 7
{s) 4000 cm?

() 4500 cor’
(e} 5000 cm®
@ 5200 oo

4. a1 W v T Torofy virf 33 cm B,
14 con P T2 v we % Wy B ey &
e T | w ¥ e W oW

. SR ?

-fay 7S¢
{b) A°
{c} 135

(d) 150¢



ﬂaﬁtmamghﬁgmmna&a. '

AB =5 ¢ and BC= 10 cm, then what
iy the lengh of the petpendicular

drewn fon the vertex B to the .

}_lyputmun:?

(a) 4@1"

) 243 e

@ :‘,"; cm

{d} 8em

49, Two cylinders of equal volume have -

their heights fn the ratia 2: 3. What is
the ratie of their radii 7

SO
{h;} 32
() 2:48

@ 3:2

mm]mmhandhrhdthufamh.

. are inceeased by 20% and 10% respec-
tively. What is the perconinge increase
mﬂ:emnfﬂmmdmgle? '
(@ 32%

(®) 0

i) i5%

(d} 15%

S, If the Jength of thé hypotemme of &

ripght angled Gratghke & 10em, then
whwt & the madmng-anes of such a
right snghed triengle ¥

{8} 100 cmr*

) 50 co

(¢} 25 c¢cm®

@ 10 m?

ms 20 .
of cirole ta

i1, ﬁﬂmhcﬁ:ﬂﬂsuﬂ:%iﬂmﬁm

are Lying on a circle of
What is the ratio of

that of square 7

(m) 11:7

) 7:11 )

(c) 23:19 |
(d) 19:20 :

. A right cirevlar eytinder had a dismeter

of 20 cm and its currved sorfiace area is
1000 cun?, What i the vohuie of the
cyhnder ?

{(a) 4000 em?

(b) 4500 ¢’

{¢) 5000 cn’

“{d) $200 cof

A piece of wirs of length 33 e ia hext
ita an arc of a cirche of radius 14 can.
Whﬂlnthcnngkmhtmdndhyﬂrm
at the cenwre ‘of the circle ?

{a} 75°
(b) %0°
fcy 135
(4@ 150¢

C — SIHY-T-MTH'



55, r P A o e % U sendy wt
* e W, o TN g
el e H A A o # ¢
(8) 1:2
k) 2:5
e 2:3
() 3:3

56.W H-2+7+5 B O+ ¥
Pwfr fmnm amr &, A woreR
al+ b e td T Y 1 b, el g
+ AW W v ¥ 7
a 1,-2.31
fhy -1, 23,1
{o) 1,-2,-3 -1
(d -1, 2, -3, -1

. @& P o yorg #9m: 30.cm, 28 om
A 160m ¥ | wom dem e
% fog B ofit % Fyms &
AT Al ?

(£} 37,11, 28, 16

@) 21, 30, 28, 7

(e) 37,21,11, 9

@ 37,21,9,7

. qﬁ 1“.3“]1995 - 3'3“5"5” t: ﬁt
(001995 F w1 AF v ¥ ?
;
laqﬁlTs
1

T

]
i

{2)
(b)

()

I
[qU¥TEs

(d)

SDHY-T-MTH -

59, {x— apz - dxx o) Firerdr TR & 7
() P{agtb+cprbetroatabitobe
&) S Ha+b el Hberoatably+abe
(&) x*(detcagtabpit{orbiclr—abe
{) *+{beteotabip’(atito)eabe

60. 77 WY A7z & e P &
Pt X¥=7om ¥ R Py owm
A AN, O g AW AT TS ?

{fem 21 & 5 Log, 1050 ~ 30212 3%
logye35 =1:5441) | '

&) 53070

(b} $3700

(c) . 555635

@) 56535

W W e ¥ few il ok
A I T G om MW 4 em ¥ |
7 T T T 8 o AR

a6t T v 3 ot R o 8
g N A T Y 7

{ay 4-75 cm

61.

{b) 550 om.
(¢) 625 cm

¥ &75 cm



55, Whet is the ratic of the area of @ square
maibed in a semicircle of radius r o
the area of square inscribed in 2 circle
of radius r ?

{fa) 1:2
by 2:5
{e) 2:3 -
(@ 3:5

56. The quotient when x* - 22+ 74+ 5 is
divided by (x+ 2} is o + in? + ox + d.
What are the valoss of a, b, £ od o

rivaly ? -
(@ I, -L 3.1
I:h] _1!1’3:1
I:cj 1l_21-_3r_|-
(4 -1, 2-3,-1

%7. The sides of o triangle arc 30 cm,

28 cm md 16 ¢ vespectively. inorder

o determine its area, the logeriban of
-which of the quantixes are required 7
(a) 37, 11, 2B, 16

) 21, A0, 28, 7

c) 37, 2L, 11,9

(d) 37, 24,9, 7

value nf[nmlggﬂji T

1
(u) 1A

i
() g

o). TS

1
W T

1 |

. 5%,

&1,

What iz {x - a)x - B)x- c) equal 16}
(@) #-{a+d+cpd+{boreatableabe
() PHarbttHboboatabictabe

{c) ﬂ—(bcwmbwtﬁmh;abe

(@) P+{Berea+abi(a+itclr-abe

Let X¥Z be an oquilatersl trismgle i
which XY =7 cm. If 4 denotes the ama
of the triangle, thety what iz tha value
of Yogyd' T (Given that log,el 050
30212 and log, 35 = 1-5441)

() 53070 .
(b) 53700
(c) 55635

(d) 56535

A bollow sphere of oxternal md
imeynal dixmekery 6cm and 4om
respectively is melied ino a cone of
base dizoneter B cm. What 10 the: bheight
of the cone 7 "

(a) 473 cm
b} 5350 cm
;{n} 25 cm

@y 675 cm

C - SDHY-T-MTH



ﬁz.mgmn,m:&mimﬁmﬁr'm

10 em #R P 6 cm #, W Rwrs
% g wg Aw § e ama 102

R A e A ol ko R

10cn ¥ | gvae (we=T) g S i
v afy frerlt £ 2

(a) 25%
(b S0%
(c) 755
) 100%

63 w wRw Prpr (el i
vy ot 7 ¥) B (Som ¥,

at v fim o sfbesaw ol wn
w7 :

- (a) 240 cm

by 225 em
{c) 113 cm
) 112 ::n:

64. 24 T W TR TRl @ W WK

warwl 6 e Wi 7 W TR W
AT & B TR W O W S
Har fa W W TR T
(W =} w7 W B W ATRA
w7 '

e) 25% BT
) 2% g
T oy 9W =
@ 4w Fe

SDHY-T-MTH - C

5. % avew {difraw) 4BCD w TR

o, faed 45 ak e §, ol
AD A v & o o # m
s % Y 48 W Ew sk CD =
F & vt wom &, ot £F = 25 om 3K

- FC=16em¥, AT A mm ) ?

(a} 16 em
b} Iom
() 3bam
(d) 40 cm

66. 3 cm, 4 ¢my 3 5 oo PR A T

% i it Resar o 291 A
T Y R el R g
(& 12 cm ' .
(b 10 em

{c} .8 ¢

) 6em

67. % FENR W amEm 155212 et B |

v it it P v 7
{3) 4 cm
(b} 42 cm
(c) 38cm
(d) 36 am

ﬁm%mﬂﬁﬁm#*ﬂitl

T F oaaw sk v ke
W 6o 2 12em ¥ | af sl B
Fud 7om X, A W W (AT
gy

() 535 cm’

(b 462 o’

(€} 234 e

() 156 oo’



62. A oolid mewllic cylinder of beight

10em and rachus 6o i meled W
pake two cones in e rato of volume
1:2 and of sam® height s 10¢m.
What iz the pacentage inerense m tha
flat surface amea?

@ 25%

b)) 0%

£) T5%

() 100%

63. T one side of a righi-angled triangle
(with 21l sides i ) i 15 cam, then
m;;ﬂ:emmmmpuuﬂﬂﬂruflh
triangle 7

(s} 240cm

(b} 225 cm

(¢} 113 em

{d) 112 ¢m

4. A thin rod of length 24 fest is out imto

rods of equal size and joined 60 23 10
~ fims 2 skeleton cube. What iy the area
of one of the faces of the lagest cube
thixs constructed ?
{a} 25 square fest
{5) 24 square feet
[c) 9 square feet

(d) 4 square feet

o5,

6.

Consider a trapezivan ABCD, in which
AB iz parallel 10 CD amd AD is

perpendictlar o AN, If the trpemn
bza an incircle which ouches AB ol K

.and CD at F, where E8=25 em mxl

F('= 16 cm, then what is the digmeter
of the cim¢ie 7

{a) 16 cm

) 25 om

(¢} 16 ocm

{d) 40 cm

Threc copper apberes of radi 3 om,
4 cm and 5cm aré melted 1o form a
large sphers. What is #ty radius 7

(a4) 12cm

(b) 10 cm

(¢} & em

{d) & cm

The wolume of a . bemisphere is
155232 ce’. What i5 the radins of the
hemispheee 7

{«) 40 cm

(b) 42 cm

ic) I8 om

(d) 36 oo

. A bucket is in the form of & trancsisd

cope. The. dlameters of the bage znd

“top of the bucket are & cm and 12 ¢m

respectively. IF the beighl of the bucket
is 7 em, what is the capacity of the
buocket ?

- {a} 535 an’

) 462.an’
&) 34 dz_:m’
(d) 166 cm’

C — SDHY-T-MTH



£9, TF i Tty o h) S 8 em ¥ | AR
W FEr | P s an d, O W
o i feom d

[a) B&m e’

{b) 69x cm?

(cy Sda em®

() 48x cm®

B W Toon & e 1 P 120k,
% ¥ v o, BR @ il dew @
LAR R R ER
T 7

{a) 3000 cm?

(b) 3600 cn’

(t) 3744 cm?

@ 317 an’

R Rl e sen s
Ay & U &, o W e
wem v § 7 -

() W ot o

(b) %

@7

{d) R

72, et it v Breare R «

l.ﬂﬁmqﬂﬁ r*'&ﬂpm

wwrg ¥, Bt e o % ol p
ATaa: AT E |

2. TR pIIET g W T o

Yo g Mt PP

% A p, rwt yrrn Rl W o

SDRY-T-MTH - C

73,

T4,

o & 3 A b

(@)

b) i’mr_z
i} 1% 25
(ly AMLAR2

T Al el @ we £ ) o wd o,
T i 3 T A g B o
MW R T N g Th R
g R 7w ot | 3R o i R
ak

{n) 8

®) 9

(€} 10

@ 1

& R & so0wm §, v m o
ol Tt e e % 1 ol oo
T i s v 8, Ak o we R
i 7o b, At o Pt it
wifen wilt afl warm wek i A T
9t adis w7 |
(& 10

(b} 14

() 13

@ 17

e w0y, o ¥ SgoeTTmi &,

AR xmIG WM y=36F | x & HPT W
Loawy=sad?

(a) 54

(b} 27

() 16

i« 8



69, A right ciroular cone has height § cm.

If the tadius of its base iz 6 cm, tem
what is itr total surface area?

{2y 9%m emt
(b) 69 v’
(c) 34n con’
(d) 48x oot

™. 8ix cubes, exch with 12 cm «dge e

1.

joitied eod s end. What 15 the sorface

. area of resoltng colboid 7

() 3000 cm®
(& 3600 cm?

(c) 3744 om®

(@ 3777 el

Ifjhumufarulnumhﬁ.midiu

recipracal is 22, 1hen how many such
nmirthers are possinle 7

(a) MNone

(b) Cme

{c} Two
{d) Four

1. prismhﬁv:l]rprimutuﬂ_ﬂhnf
g and r, them p is relatively prime
to the produst g+, '

2. If p divides the prosuct gr and if

P divides g, then p ot divide ».

. Radha and Rani are sisd

Whmhufthtahu#awwm

.mnwt?

(@) | ooly

(b) 2 only

€) Bothland 2

(d) Neither 1| oor 2 |
@Fm!rm
back, the pge of Rufhs was three tooes
thad 'of Reni, but oo yedr back the age

. of Radha was twa dimes that of Rani,
.. What is the ape d]ﬂ:tm between
" them 7

@ 3
) 9
{c) 10
) 11

M. A person carries T500 and wanis w0

buy apples end cracges out of it, B the
cost of oné spple is T5:and the cost of -
oiie orange is T7, twm what is the
number of ways itn which & person ¢
buy both apples and - oranges wsing

E iotal amount 7

{e} 10 -
o 14
(c) 15
() 17

78, Given y is inversely pmpm‘huml to
“Jx, and x =36 when y=36. What is

the valoe of ¥ whan y=34 1
{2) 54

2
) 16
& 8

C — SHY-T-MTH -



Th. 16+ 6T T g wn § 7

TH

(#) 4+7
o) 4—47

Ac) 3+ 7

(&) 3-47

L 75, eB a0 s A Tom W

¥ 7 [fem g2 = 0301,
bog o3 = 0477, log 7 = 0-645]

(&) 21,720, 1%
) 20,19, 18
fcy LI W
(d) -22, 20, 21

'.'m#a‘rﬁq x € e o quls R T

A ot 14 Y ferPber B wEr
Vo e & MR A w15 @

fiemfam fen amar #, =t v 5 ¥

t PfRad o os wh & 7

() W<z 0

(b) 30 < x < 40
(c) 40 < x < 50
() x> 50

T @ % a6 F 8 A e e e
¥ 1 3R o x A W & ) aeft

# wli i DR 20 fime & i awhh @
et § | aft 3R y S A e Re
g & A ot A wh o o 15 P A

gt Wl g w1 3R e v

R A, Al d wh g AR W
wwlt B 3 s W w7

SDHY-T-MTH - C -

31,

(z) 0fimz
{&) 45 firre
(c) 60T
(d) 90frz

Pt weet o fi=r Sfang

L 75 e vt dem £ |
2. Hﬁmmﬁmmw&ﬁ

4, 4232323, 9 " ¥ W A fmn
T &, ﬁpﬂ(q'{ﬁhﬁfl'

2 H R A Y e i

{a} Iﬁl
&y 23R 3
ic) 3 4
idy 23R4
v JEwET & AR W Avigel &
shea wom 510, ke o= Bt ae am
240 ¥ | wFAR 4 N o AR 30 Bt

Fumowdd # ok B R oam R
a‘mgﬁiﬁrsﬂmmmt?

(a) 217G
(by 282

(g) 285

(d) 375



Té.

What is the squars 1ol of 16+647 7
(@) 4+-7

() 4~+7

() I+7

@ 3-47.

What is the nomber of digits in 75 82
and 9% respectively 7 [Given log;,2 =
0301, log,y} = 0477, Jog,,7 = 0-845]
(ay 21, 20,19

(b) 20, 19, 18

{e) 21,21, 20

{d) i, 20, 21

Lit x be the smallest pogitive integer
mich (hat when 14 divides x, the
reninder ix 7; and when 15 divides x,
the remainder is 5. Which one of the
Fellowing is correct

(£) 20 < x < 30

) 3 <x< 4D

(c) &40 < x < 50
(@) x> 50

Too taps X sod ¥ are fixed to 2 walcr
tank. If only X iz opened, 11 drwing o
the. fl] mk of water in 20 minutes.
If bath X and Y are opened, then tey
drain out the full tank of water in
15 minutes. T€.only ¥ ix opensd, how
hngduaalttaknh-tmnutﬂmﬁﬂl
tank of water 7

(2) 30 minutes
by 45 minuies
() &40 minntes

(d) 90 minutes

8. Consider the fallowing statemments : .

1. u’ﬁisamﬁunalnmﬁilu.
2, There =xists zt l=ast 3 positive
4dx T

1, ‘Tze:l for all real values of x.

4, 4232323 ... can ba expressed in
ﬂ:tﬁrm‘?—,whnrepmdqm

Wlnchnt'ﬂmahw:mi-mmhn
correcl T

(2} 1amd2
) 2and 3
(c} 3wd 4
@ 2and4

. A library hax &n average maribey of

510 visitors on Sundey and 240 on ather
days. What is the average oumber of
vigitorg per day in a mooth of 20 daye
beginning with Sxhanday 7

{a) 275
(b} 282
(c) 285
(d) 375

C - SDHY-T-MTH



1

1
rrs

82. uk; %=3+_ l
<+

e HETa &, @ (xtpet o) AR

o

(a} 6

() 7

(e} &

(d) ®

.o wite 3 wegEt A& WA W 900
vy A ¥ #, wel wE oo 10%
i g % AR wh W= 10% Fowh
ot Tl W gL VR A A wilh
vRen mr ¢ -
(a} L% g

) 1.

{c) TANTER

{d) O-5% @

B4. 600 kO A W A 120km 7T
Wt g s Ry

AT AY N | R T R |
afg wh e W 200 km ¥ e A
a7 fdar =m e dm gh B W A
i R € 1w R
i 2 prmk B oy & e v %
(a) 3:2
(b 2:3
() 3:4

4} 4:3

- SIY-T-MTH - C

oty ydRz

L

w W G c W T b
(-2 A | T T ¢
(a) -5 |

(p) 05

c) 05

(D 15

LR 1, 6750052 w fembe

o 4, B W HfeEm AR A kg
(@) 20

by 22

© 23

) 28

39_310 ) fivwfy tor & ek v
o Wi a7 s 7

) 3

) &
<) 7

G

£8. T TR ﬂwﬁtmﬁwm

mtlﬁﬁﬂﬂmmt?-

_ (a} 38

by 34
C(e 30

Wy 26 S



II,IHE=3+ 1 . wherex, vand 7
b X+ ll '
J"";
ae metival mumbers, then what
{x +y+z) equal 10 7
a) 6
o 7
{c) %
dy 9

3. A permom zells twe items each at

Re. 990, ons at a profit of 1090 and
anather ar & losx of 10%. What is the
combinasd percentage of poofit or lom
Eﬂl‘lh:twuttum?

(a) 1% loss

(b) 1% profit

(¢} Nao profit oo Joss

{d) 0-5% prott

84. Tt 1akes 11 howrs for a 600 ki journsy

if 120 kan it don by teain and the rest
oy cer It takes 40 mhmtex oxme if
200km we coversd by tain and the
rest by car. What is fhe mtic of spead
of the cur to that of the wait ¥

(2 3:2
by Z:3
{c) 3:4

(d) 4:3

%5, A real nomber x i guch thet f2— )

is maxienun, What is x eoual to 2
2} -5

®) -05

[l::] 0-5

@M 13

86 0 107 divides 65273105, then

what is the Lrgest value of 1 7
=) 20

b 22

© 23 a

@ 28 '

7. What in the digit 18 ' witit™s place of

the omber 1
(3

{) 6 "
© 7

d 2

E}' 353'_ i LI

8. The sun of the squovs of four

cousecwtive natural mumbers i 294,
What i the quom of the otmbers 7

@ 38

®; 34
(e) 30
) 25

¢ - SDAY-T-MTH



25, T 2+ gy + gm0 51 p W g
wwmm ¥, v g2 0% p iR g H AW
o wn g

® 1,-2

() L2 -

ey -L.2

) -1, -2

. Wrpfs et W fiert o 8
o ol = g a5 v

@ 1

{t} 2

c] 3

) 4

. TR (B - 6 Fywrer ol 52— Gz + B = 0

w T i E, Wl b s qudn &, St
= atEm AR Y ?

my 36
(b} 490
{e) o4
(d 81

92,72 amT+dy3 & m+a‘.m ™
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